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1.

Answer all 100 questions.

SMD EE0NH SHrERDCN FROioN.
Each question carries one mark.
2875, B o Sy

Choose the correct answer from the four (4) answers given for each question and
shade the relevant circle in the OMR answer sheet with a HB pencil.

eS8 5% 359 (4) moreces’ SOHD aarewio MyE 0 OMR S2oo BiSaad’
3 sewofeln w66 HB 23,68" adnw.

Do not write answers in the Question Booklet. Use the OMR answer sheet for
marking answers. Read the instructions given on the OMR answer sheet
carefully. ;

G1 (9% DB50s’ apuos ooy, e Fouei OMR S8ren 2iged srpie
oo, OMR Snmgms Bped® 20 Souten epEm Sased.

For rough work, use the space provided below the page.
Loy wh P b dol gneds Huloane &RaReniiL.

At the end of the examination, hand over the answer sheet to the
Hull Superintendent without fail.

235 Teonld Tead mws DiEew, 6 SUSERIR IR wbhictod.
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PART - 1
GENERAL KNOWLEDGE AND TEACHING APTITUDE

The objective of the organisation 'Amnesty International is to ........

(1) accelerate economic progress (2) fight for human rights

(3) conserve environment . (4) achieve complete rufal literacy
‘Hﬁ.:&?g qauﬁﬁt&.‘-’;g‘* ‘n’;a:g a‘..*u:ﬁ_, os 5O rinenens

(1) esB% ENOD Bpunonse (2) BN ey el HFoise

(3) WOBEP, Soddonto @) I8 Rors wxo MPoisso

The planet named after Roman *God of Agriculture’ .........
(1) Venus . (2) Earth
(3} Mars {4) Saturn -

Bs RIEDS Bod Bidrai B Bt guwded.

(1) - S . ' (2) &=
(3) Soerto (4) %
This acid is often used in Cola drinks to give an acid taste .........
(1) Phosphoric acid (2) Tartaric.acid
(3} “Acetic acid (4) Malic acid
S Dol wiss Hd Tt SI7 SSAPAS ©590 .errnine
(1) P8 esoo (2) «bundE espo
(3) ok eitoo | (4) wrdE w0
i21
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On 5th May, 2012, Andhra Pradesh and Maharashtra have entered into an
agreement to construct the Pranahitha-Chevella Sujala Sravanthi project
named after .........

(1) Dr Y.S. Rajashekar Reddy (2) Dr B.R. Ambedkar
(3} Rajiv Gandhi ~ (4) Mahatma Gandhi

w0 5, 2012 ® wogEns, Micles D8 BONmdn relrn-SD Wre FHed
[PPRES MBEWRE 135080 Htolin s,

) . .5 oelnboa 2) v D.esb. wotieB

(3) oS o @) o, Mo

In the DLF-Indian Preémier League (IPL) 5, 2012 Cricket Tournament,
Deccan Chargers has won twice over this team .........

(1) Chennai Super Kings (2) Rajasthan Royals

(3) Pune Warriors (4) Mumbai Indians |
&.35.05-g00005 E2ecwE B (IPL) 5, 2017 (8368 Shmocusd® 4,5 6, bs
2D BolIE Dciie FHoS, |

(1) 3P, s0sb 3of . {2) o crand,

(3) ©ff ToaE, {4) Swomwws godans,

According to the nght to Education Act, 2009, 'Child' means a male or
female child of the age ..

(1) 06 - 14 years (2) 0- 14 years

{3) 06 - 18 years (4) 03 - 15 years

ey iny, Bigo, 2009 GV Wy’ veld 1 B BoBs Y oK BE O TR ...
(1) 06 - 14 Sodsyres (2) 0 - 14 BesBoe

(3) 06 - 1859:}9‘:13,0*&:: {4} 03 - 15 Scdsree

[3] ET.0O.
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Asked to start a primary school, you would start a school .........

(1) that can admit and accommodate any child irrespective of his/her
abilities.

(2} that gives equal importance to academics and sports.

(3) that trains children for admission into technica! courses after higher
secondary stage.

{4) that adopts ability grouping. .

Lf Seal DEweR (Poofelnd fosody waNd Duta By DR FeTem

ERBed) b,

(1) sy g o8 Bowoge Suons D FLYPT FETes” Wykd O MEere
SR '

(2) Doy Dk, e BIFIRN R0y 8R8.

(3) Dortice Svaiiogh s % BT o3 s 06’ Sty 358 q:.‘:aaba

(4)  SnBatE o afpbo Shaiiens Do,

If you find a child in your class who always isclates from the rest of class,
you would ...

(1} ask the child to be normal by taking the example of his classmates.
(2)  try to understand the underlying cause.
(3) leave the child alone so that the child comes out of it by his own.

(4) inform the management that his presence may effect other students of
the class.

o BUHOE 1% homt Jplir oGO dons W ooy R Sosk.

(1) & Sorlizeits WAL O RFaaFam Solidon Dk

(9) A [EHESE Sore PO BORiD @‘aaﬁaasae B,

(3) o ST AR DOTHRC JoSEHrE T T S Mo B PGS,

(4) D E0ES LoD B DoRtUE B iy ShERsousts BOUD WRt,

[4]
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A teacher should be effective leader means .....

(1) . should be a good orator. -

{2) should inspire students to achieve goals.

(3) should maintain discipline and order ip class.

(4) should dominate colleapues. |

SIPTFAHIES 2.5 GEPWSOBI PODHAT GG D 6ol .........

(1) $Heed UF wom &oord.

(2) oggw .;‘:'mosam derdizes BB IS,

(3) Bunss® Eoigs dod FSeTd.

(4) =0 sBgoeno Thod.

Teaching - learning process will be more successful when .........
(1) there is a good interaction between teacher and students.
(2) teacher takes a lead role in teaching-learning process.

(3) . teacher concentrates mﬁre on subject teaching.

(4) strict disecipline is implemented in class.

G PG aer.;{,.*:- DHSSIOTS GORIB .o

(1) adproinGs e 530 $o0 BEt S DA &b,

(2)  adrgrgosod #ﬁmﬁﬁﬁ é’a@oﬁﬁ‘ F‘éﬁaﬁﬁﬁ P DS,
(3) | a&;-smm ﬁﬁp:_bsﬂ‘qiﬁ':.i =T '&c@gaem:@;ﬁa.

(4) SEEIE® SHBHIG (SO ST S,

5]
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PART -II
(A) GENERAL ENGLISH

They cancelled all flights because of fog.

The passive form of the above sentence is ...

{1} All flights cancelled by them hecause of fog.
{2) Al flights are cancelled because of fog.

(3) All flights were cancelled hecause of fog.

{4) All flights cancgﬂed because of fog,

You and your friend are walking over a wooden bridge. It is very old and some
parts are broken. What do you say ?

Choose the grammatically correct staterment :

(1} This bridge isn't very safe, isn't it ?
(2} This bridge isn't very safe, is it ?

{3} This bridge isn't very safe, isn't this ?
(4} This bridge isn't very safe, wasn't it ?

Read the group of words given below.

tiny, huge, horrible, minute

Fick out the word that does not belong to the group.
(1) tiny

(2) huge

(3) horrible

(4) minute

Identify the part of speech of the underlined word in the following sentence.
She pronounced the word guite correctly. '
(1} adjective

(23 werb
(3}  noun
(4} adverb

[6)
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15. I always have breakfast ......... .
The latter part of the sentence is ...
(1) before going to work,
(2) before I go to work,
(3} before I am going to work.
(4) before I will go to work.

16. Identify the correct order of the jumbled parts of the sentence
that are labelled as'a', %', ‘¢’ and 'd.
(@) makes it, when tamed
(b} and its intelligence combined with its great strength
fe) the elephant is a very intelligent animal
(d} a very useful servant to man |
(1) cadb
(2) cbad
3y dabe
(4) cdad

17. You are sitting in a train waiting for it to leave. It's already fifteen minutes late,
The above seﬁtencga can be combined into one and written as ...
(1} It's time the train leave. '
(2) It'stime the train to leave.
(3) It's time the train leaving

(4) It's time the train left.

7] PTO.
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18. Read the following .
A : This book belongs to somebody.
Identify B's question.
(1) Who does it belong to ?
{2} Who it belongs to ?
(3) Whom does this book belong ?
(4 Whom this book belong to ?

19. Identify the: part of the sentence that has an error. The parts are labelled
as'a’, &, ¢'and ‘o

I haven't got / some/ free time / today
(a} . (b) {7 fd)

(1) fe)
(2} (&)

(3) fc)
(4) (d)

20. Kiran ......gm.... h;is hand when he was cooking the dinner.
Identify the correct {;pﬁﬂﬂ to fill in the bi'ank.-
{1) _has burnt
(2} burnt
{8} was burning

{(4) was burnt

(8]
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(B) GENERAL TELUGU

B & IR TR
(1) o5, §0d, o
(3) (e DRy WL

o0 T ol G2 38 &8 ...

(1) %o

(3} efErabe

S e oo DHO W0
(1) g

(3} ot

Aot ko SRS Ytk g0
(1) bl v £B00K §ise

@) 2o, T, DEs

(4) SOB, B, WS

iiiiii

(2) wedwbo
(4) DL

(2) Qo0
4) Sodes

(2) FoTd obod Bt X0k Mo
(3) oo wois 368 e &% Tud I

(4) g Heoy BE SEpE TS Aonse

Dol U5l Bagrse EERie By ef SN e Sbodd

(1) Boie SopD2 ‘eutsy BB

(3) e BOPDA (e’ bk

(2) RSP wiive JSE0

(4) esigotoo Foouce

el .
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‘es 500m30 G (GES Bode SEmED cteo’ ey B
(1} . S0 - (2) TErods
(3) @ (4) Ho8Side
IS SRy 206) ANNLCHRD) ANEPEOM SN @8 v
(1) Grdseorte epbsad. - (2) a@grocse ORBICD.
(3) endfSnruwesvo wptosd. (4) wﬁﬁiﬂﬁgéenﬁfﬁn.aé}&m&.

GRSINLEST e BEOE%D BOD wuerrens
1) weodssep | (2) w800

{3) Somitss Bed : (4) HuIHG Bod

AR DNSHe BETWEY TP wBgy SRS w8 B0 L.
(1) eomitm Bed (@ -‘.ﬁmﬁd 568

(3)  searmisy 968 (4) oS B0

TRIHEE TED W% DU SUO avean.
(1) . 1drgrisg mog (2) 30 o

(3) o s (4) e dug
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(1) Ared Erans

(3)

HogRed ErEns

848 $O3B 5550 %0 cervnnnens

(L
(3)

SR 1PRg Eragon, HupEionis, SiSmto Byt ERRe DRI SO0

{1)

(3)

SyonErrud m:aé__a%
woovied SPAS ey
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(2) owgmed srass.

(4) BEsaed Erdna

(2) DodLeTErDd N0k ey

(4) 558 ¥PED ety

(2) BHETee Boky Fade

(4) SEsTee Blcy SRt

IS PHoEiSe, LY Bl BIERs Dalivie’ BOR BOUHO v

(1)
(2)
(3

{4}

!
Bodiag Tty DEbNEDHE

BOGInY TS0 BORR TIRe DG

Hodn Ty dudhnpe

PHT0g DT Hod R T Dl

SRSEPOL TENETPOTON T, SSNrTels dndecires Pl D) DR BEme

(13
(3

SO SEM0

(AT G R FL

(2) BHnCoR SRSe

(4) eopie Bamse

{11}
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e Cede A
PIE0B o By HUSD 5L ... Ol
(1) HEwee (2) Hornde
(3) Sens | | (4) Jogmb
D, oy, TR0, IS5 s WML ::mg_;:wuw fie 350
(1) Fhgie : (2) fctwna

(3) &s%e | (4) Mesaas

‘orimet ey BreE B sveod’ dink, Pholbe Wi wgvey EREANOD. 2B
Bt WD TP e :

(1) =&, S5k, wzd (@) 3&, o, 84

(3)  wbon, BLH, BT (4} Soow, &mw, oo
H%ea00230, HHOPELT LN BEED crersrres
(1)  eBoarems Soraes C(2) e SErdre

(3)  SBoytion SEmre (4) BEEroAy BaTres

2.5 PRS0 ©doirens 1B S GBI SRHBONES i

(1) edeb Sogo 2 (2) Spig e

(3)  Fioeo (4) Sodye Moec

[12]
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PART - 111
{A) MATHEMATICS

41. IfA:B=4:9 and A:C=2:3;thenA:B:C is.........
AiB=4:9 28 A:C=2:3 wod A:B:C S ...
1) 4:9:3 (@) 4:9:6
(3) 4:6:9 (4) 4:3:9

42. If A = {a, b, ¢} and B = {x, ¥}, then the number of functions from
AtoBare.....,
A={a b c} w8a» B={y,y} vand A ed B & @docire Howy
{1) B : (2) 9
(3 16 (4) 8

s

43. The dimensions of a Cuboid are 5 m, 3.5m and 2.4 m, then its surface area
(in 8q. metres) is ... o
£.5 8 Poitico Gank, SFobes HHSm 5 Roects, 3.5 Dot 908cin 2.4 Doestsy woxd
TR Qwly, Hogbe pToe (B, Daeie’)
(1) 775 (2) 785
3 758 (4) 748

& Space for Rough Work

[13]
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44, If o,Baretherootsof x%+ bx +c =0 and «+ &, p+ & arethe roots of

45.

% + gx +r=0,then'h'isequaito.....
FPAbr+e=0 eidHyBioitee Gl arees o, B Bebdo e+ h, B+ A e
22 + gx + 7 = 0 &5 DY B205TeaY TorCres wand T Desk

(1 d+gq- (2 b-g¢
/| : 1
@ . 5 (b+a) @ 5 (-9

In a group of 36 persons; 20 like coffee, 22 like tea and 3 persons dislike both. .
The number of persons fike tea and coffee are ........

36 3000 10 2 {EreE 20 o8 T, 22 So0d S FHSET. 3 ot 1R B
AEnEns Dododd G PO DOR .n... '

(1) 9 (2) 6
3) 7 (4) 8
46. The sum of the series 1—l+1—1+..;..,_ equal to
2 4 8
1——+£—11——+ ....... &5 eison [@ed gy, Jwdhu
3
(1) (2) 9
@ 2
3 2Z ) 3
Space for Rough Work

(14]
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Equation.of the line having y -intercept — 1 and making an angle of 150° with
the positive direction of X - axis is ....

X - offe Ak, §T58 150° Seso Jar y - bt poie — 1 1 Re 15538 30880
(1) x~+8y-3=0 @ x+VBy-v3=0

(3) x+V3y+v3=0 @) x-v3y+43=0

If three points (¢, 2¢), (2¢, 6t) and {1;'3, 8) are collinear, then the value of #is....
it, 2¢, (2¢, Eﬂ Soda (8, 8) e Samiss Hotispen $EHaes wond ' R

(1) 4 | 2) 3

(3) 2 (4) 1

o
The value of the term independent of 'x'in the expansion of [xz - lj is ...

: ;
(xz —-]:} IEEE x' OO BEE0 ol ...

x
(n 9 (2) 18
(3) 48 . {4) 84
Space for Rough Work
(151 ET.O.
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50. If cosec®-cotB =% ; Wh'EI‘EI-B#'D, then the value of cos & is....
cosec B -cotD =71-§, (0§ #0) wo0d cosf s .......
. J3
1y 0 2) —
{1) (2) 2
(3} l ' (4 2
2 -
The value of log tan 1° + logtan 2° + log tan 3% + ....... + log tan 89°is .....
log tan 1° + log tan 2° + log tan 3° + .......+ log tan 89° Deod ...
(1) 0 (2) 1
(3) e ' {4) 2
~ fecos A sin A 5.
If ﬁ_{sinﬂ e A] » then A”is ....
_ cu_:-sA sin A oxnsd 25N
sinA -cosA
~-coSsA —sinA msA. sin A
(13 —s5inA —cogsA @ -s5inA -cosA

-cos A —sinAY . ; cos A sin A
(3 sinA cosA - (@) sinA -cosA

Space for Rough Work

[16]
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53. Thevalueof Zlogg2 — %lugag 18 i

o4,

23,

2log 2 - %iﬂgag RSt
1 0 2) 1

3) 2 | (4)

o | =

Q. Booklet

If the diagonal of a Square is doubled, then its area will be ...,

(1) Three times - (2) Four times
(3) Same (4) Two times
23 359065 S Do Tipis D e ;
(1) Samt Teas (2) TrenloTes
(3) wErve i (4) Do Teas

Il p, g are two statements, then ~ (p = ¢) isequalto....

P g =>Boi Pavimres saxd ~ (p= ¢) e

(1) ~p—o~¢q : (2) ~p—ogq
3) pal~q) 4) pv(~q)
Space for Rough Work

[17)
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1-2x
The value of s’ in the equation (E ] =4 L™
. : 5 27
1-3x
[E) —4 17 S shoimed® v Dewd
5 27 : -
(L 15 | @ 25
(3) 3.5 (4) 4.5

In a A ABC, AD is the median to the side BC and G is the centroid,
then AD : GDis.

AABC & A 5504 BC gundd AD wwsméamt}mmaﬁa@c sand -
AD:GD

(1) 2:1 (2) 1:2
(3) 3:2 (4) 3:1
Space for Rough Work

[181

www.sakshieducation.com



www.sakshieducation.com

1

58. If(3,2),(-3,2)and (0, k) are the vertmes of an equilateral triangle and h <0,

59.

60.

then the vatue of ‘h' is.

&5 SE0arv (@gseo GoY), faugmbﬂ:;’m' (3, 2), (-3,2), (0, k) BoBai (h<0) easd
(1) 2-V3 (2) 2-243
(3) 2-3V3 (4) 3-2J3

If sinx + sin®x = 1, then the value of cos®x + cos®x is ...

sinx + sin®x = 1 wowd cos*x + costx Dewd ...
(1 0 (2) 1
3 2 ' (4) 3

The length of a chord which is at a distance of 4 em. from the centre of a circle
of diameter 10 cm. is .......

{1r 8cm. (2) 6em.

3 4cm. i {4) 2 cm.
10 Reudaww Tgho BE5 Y Joo Weel Y #7H wowlie 4 2o, oD @y
oo S

(1) 8 Dol 2) 6ol

(3) 4 Do.bo. C(4) 2 el

Space for Rough Work

[18) . PTO.
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PART - I
(B) PHYSICAL SCIENCES

The pieces of ice appear more shining than a solid ice cube because of ....
(1) Reflection of light (2) Scattering of light

(3) Refraction of light | (4) Diffraction of light

Qi Aol Baot Baleo, 48 DY Soote Bt NHEs Buscsem™ ¥Ubce
e

(1) 500 SHowgve . _ (2) Tod IsHLHe

(3 ed seisse (4) Ted 38

The atoms which do not form a monovalent ion is ....
(1) Hydrogen ' (2) Sodium

(3) Potassium (4) Magnesium
51 {360 0S5 DF Hodrel woires bﬁguaéa BEEFroP
() pE'es S (2) Faawd

(3) erboSs (4) RofgachSs

Brown ring test helps to knﬂw‘the presence of ...

(1} Nitrates ) (2} Phosphates
(3} Oxides (4) Chlorides
WS ookt 00, D03 694D DEWEIS GIAFK HEBCO.

(1) e, @) T,
(@) o3& | (4) £55&
[20]
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64, The substance which has highest value of specific heat among

65.

66.

the following ...

(1) Mercury (2) Water
{3} Alcohol (4) . Glycerine

Bod TPRE° et X 2R Deolito FDAS BIge
(1) Dusse (2) e
@ woE @) oS

X-rays produce fluorescence when they strike ..

{1} Barium sulphide (2) Zinc ¢hloride
(3) Hydrogen sulphide (4) Zinc sulphide
X- 3eroo B SORE0R SARGIE BhR ¥BIR0s,

(1) HoawhowpyE @) 2ok §2E
3) wE=EupE | (4) #eE 33,5

The increase in the concentration of reactants ....
(1) increases the rate of forward reaction. |

(2) decreases the rate of forward reaction.

(3) increases the rate of backward reaction.

{4} does nnﬁ change the rate of reaction.

Beirrame mESE Bl

(1) L S, Sotsdses.
(2} WEeie DTGl B,
(3) B BIIEMY, BotoBIcd.

(4)  Lor@iod® SRR WOy SoGSs,

[21]
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87. The relation between Magnetic moment (M) and distance of neutral points

68..

from the centre of magnet (d), when neutral points lie on the axtal line
18 ... '

- mw:mf:musm oo, Lo ﬁm‘ga_ B Hefopw G, ﬁadi:b"baéﬁ §FRoTRE
(M) solosas wdodned Sotic wed Bl Dolipet fo dovte (d) o Wby fie
Bensdc B¥a Bkt

(1) M=23%04d"
3
@ m=22

(3) M=195d°

_1954d°

4y M 3

If a‘f particle is emitted from & radioactive substance, then its ...
(1) atomic woight decreases by "4’ units.

(2} atomic number decreases by ‘2" units.

(3) atomic number increages by ‘1’ ﬁnit.

(4) atomic number decreases by '1' unit.

Laoir FOF DG W06 18 ‘i’ Yoae SERe Dol o
(1) SoEFes wroo 4 Bhrere: Bibbood.
(2) 2o Bewy "2 Earemen ool
(3) BT Bopg 'i' ERrrao nixotosh.

(d) ) SSarrae ':5)0-’;:3 T anﬂ éﬁrﬁ&m&.

(22}
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69. The value of electro-negativity in a Periodic Table ....

70.

(1)
(2}
(3}

(4)

www.sakshieducation.com

increases in a period from left to right.
decreases in a period from left to right.
increases in a group from top to bottom.

does not change either in group {or) period.

eIGS B8 6° aaory DEXTPEES Devid

(1)

(2)

3)

(4)

DOwES® St Meed B2 ) Fod Moites.

LocnES® s wod Bd8 2, 5'ed BrHtucd.
gops® poocd $003 3%, Fod DUHBRD.

mﬁ‘ D, BoaES® 1D 1 Bty Desds,

Q. Booklet
Code

The substance for which solubility decreases with increase in temperature

s ...

SFnE 2EAEGy, Eroond & sogo

(1)
@)
(3)

(4)

NaCl
KNO,
Cay(80,),

NH,C! -

123}
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PART - III
(C) BIOLOGICAL SCIENCES

For proper hearing, the human ear should have ...
(1) equal pressure on either side of the tympanum.
{2} a very large external ear.

(3) a very narrow auditory meatus.

(4) small and thick ear drum.

SESem JSERg, SN DN A Somrdut.
(1) 55563 cabopipe S Sikbe.

(2) e DEDS DB 3.

(3) T W z:r".::rvﬁ @Sy HTER0.

(4) DB B:Bui» Swolom &oll SSH0.

The reflex action that is voluntary in one age group and involuntary in
ancther age group ...

(1) Respiration ; (2) Digestion

{3) Urination {4) Heart beat

3 By, O DooPS SHFEHT, RO DOSNLIEE” LACHEBE SEyTRr dok
&dosEB B .

(1) @%5 @on \ (2) 28 e

(8) wamB Diogs (4) smyse e

Identii‘y the statement unrelated to sexual reproduction in living beings ...
(1) useful in natural selection. '
(2) offsprings resemble parents.

(3) does not occur in non flowering plants.

(4) oceursonly in animals which do not show sexual dmmrphlsm

Fpud DohE @883 Sowodo 3o esoTv, oBoved.

(1) (B59 $oerRd aDOFRGEeR.

(2) 2o dPes, wi¥ dipose FT dowrass,
(3) rpotd Duskos’ b,
(4] Dons BRIHED BEOUT moliged® Srgl BbLBeSD,

[24]
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74. 1In a feast the guests, after eating food items prepared with preserved fish,
felt sick. If you think it is a case of food poisoning, name the species of the
causative organism ... . 3
(1) salmonella (2) bordetella
(3) butulinum (4) falcifarm

2¥ Dorod’, Doy Jowudy Ised Bty JWD Sowsois 8N edoo BB
DO, o Bottel® wiite DEEIOEINED Jt PG, D8 SRl B0 @,
@8 Do BBl i

(1) >5pe 2 shoe
(3} Srodnis (4) DOPERs

75. The wavelength of coloured light that is not ﬁt all useful for photosynthesis,
in visible light is ...

(1) less than 400 nanometres (2} 500 nanometres
(3) 700 nanometres (4) greater than 700 nanometres
Soddd EOOL TodE 30raey; BoaIN G0N O BIBHIr ASATIHED Jolh sod
BUONDE g : :
(1) 400 8§ dowg Sod B (2). 500 =& Jawky
(3) 700 = Bowsby (4) 700 > doesg soid dmy
76, In vegetative propagation, plants in test tubes can be obtained through the
process of ... : |
(1) super ovulation _ (2) tissue culture
(3) in vitro fertilisation. - . {4) grafting
TH Eogeed’, by TOEE’ oot Doty DB
(1) sreb Lpdad (2) Sewe HgREw
(3) wopox Tobsseaan (4) wowo K
77. Sugar should be in the form of ... and ...... to release energy during respiration.
{A) Cellulose . {B) Glucose
{C) Solid (D) Solution
(1) B, D - - (21 A, B
(3) A D (4 B,C
TGO’ T80 Dibto AN BFYY ... BOOCID ......... srses® Somd.
(A) DossE (B) nps'E
©) wn D e
{1). B,D ' (2) A, B .
(3) A D (4) B,C

(351 RT.O.
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Identify the true statement regarding 'Dionea’.

{1) lives long without taking arry food. ;

(2) growth decreases, when nitrogen is absorbed from soil.
(3) ean not produce food of its own.

(4) absorbs nitrogen by feeding on insects.

ERPIE K Sorcdol Py TR HEeved.

(1) 2053 estosr ke Jis Too dlised.

(2) »Eend Do Sod RrolshE: BEIbEe BiEes.

(3) Hsoloom enitrd, Basmds Diwt*Ess.

(9 dumens aiitom 88" SERIY IErked,

The different aspects noticed between any two successive levels in a food

(1) Increase in the available energy and deerease in the number of organisms.
(2) The same amount of availahle energy and the same number of organisms.

(3) Decrease in the number of organisms and decrease in the amount of
available energy.
(4) The same available energy and increase in the number of organisms.

0.8 ealioy Flossed’, JPT Doty SIS Powe Bugi IBaDCHERs SO, voTve
(1) oguodi; $38° ntolae b S9e Soagd® Bipie.

(2)  oRigocis 55 DOEFHBN HHIUE 20w dHe Sompy B,

(3) S son® Bite S0ms ¥ $oEPrRE’ Bise.

() ogigodiy ¥ SamEne Dooas Sipe Sopd® bibie.

In: a family, pressure cooker is being used to cook rice for its members. Due
to this the chances of their suffering from deficiency of the following are
less.

(1) B, Vitamin (2) B,,ByVitamins

(3} Bﬁ \Titamm [4} Blﬂ 1Il;"'i.'l'.ﬂl'.['.lil'.l. . ‘
2.5 Sooacwod® Bl §%0 @ino Soduwr3 @b L¥b éﬁ&?ﬂﬁﬁuﬁa@b& &:}:&g &5
Brence D008 54§08 /D SrHe 650 By Tt SUR eswes BN,
(1) B1 Deating (2) Bg = Ba ﬁu::u:&.:h

(31 Bg Jesdod (4) B delom

(28]
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PART - III
(D) SOCIAL STUDIES

This island is situated between §° and 11° N latitudes ..........

(1} Minicoy (2) Lakshadweep
{3}  Great Nicobar {4) Andaman

8° oot 11° S0 aFomre Dol JR0ed &y Sigen

(1) 22l (2] oy Bopes

(3) n&hpE (4)  esousrs

These soils are derived from weathering of crystalline and metamorphic
rocks.

(1) Red soils : ' (2) - Laterite soils
(3) Desert soils (4} Allavial soils
357SRE D300 LirSrett oo 3o DeB NG Sow
(1) 25 Sows (2) e Sow
(3) S0 Deas . {4) o3& o

The first cotton mill was set up near ......

(1) Gujarat ; (2} Surat

(3)  Calcutta {4} Ahmedabad
D040 s Dy RS Ha Beges Boitos” 1O

(1) ioecd {2y wrud

(3} Hose (4}  esinhaemets

'Resorgimento' was a ...
(1)  Revolutionary organisation (2) Educational institution

(3) _Revolutionary army (4) Newspaper
SPGB0 wiHINd
{1} &85 See (2) Zomg "f—.r::@o
(3) &N ke (4] &0 30
[27] PT.O.
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85. Aland Island lies in this sea ...

(1) Baltic Sea ' (2) Caspian Sea

(3) Mediberraqean Seal (4) North Sea -
wBoks B2 S+ Bawes’ &8,

(1) 288 sanso | 2) Teed :am@

(8) s SHEe (4)  aBs wsiEe

86. Java and Sumatra islands were the colonies of this country before

Independence ... |
{1) France | ; (2) Portuguese

{3) Dutch (Netherlands) (4)  England
Poo|Beo TFF B0y e Bl QusE® Bien Gt ornd Deb ol Eoied.
(1) ey ‘20 s

(3) &3 Rucpely) (4) golots

87. This Article prohibits the employment of children in hazardous work ...
(1) Article 29 (2) Article 24

{(3) Article 30 | (4) Article 17
cremyatie 0% 51 IS0 SR Bves heois HRFCEER, 59000,
{1) 283 edlcibidoe (2} 24 % efdoiwo

3] 30 % woldcliEee ' (4) 17 &% dcdinwo

28]
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I[ndia has adopted a policy for "balanced regional development” in explicit
terms during this Five Year Plan ...

(1) Third Plan (2) Fourth Plan
{3) Second Plan (4) Fifth Plan

PG Ose wﬁs@m@m %WM##WW

wwosledal,
(1) 35 Pemdy (2) 45@;-:-%

(3) 2% Pends (4) 5o Ghepoy
|

The ratio of the mass of water vapour present in a unit mass of
air is called .....

{1) Absolute Humidity (2) Atmospheric Humidity

{3)  Specific Humidity (4) Relative Humidity
=5 ﬁmmnﬁ.;wmammmbmnwm

L

(1) PR esgn (2) oovstes elgo

(3) 2egs (4) S0y s

The nomadic tﬂbe living in Borneo are called .....

(1) Samang (2} Sakai

(3) Kabus . -~ (4) Head-hunters
SO Acsed® D0 LB Do Her Headds.

(1) Ssoch ' (2) Terew

(R N> (4) & Spoealy
(28] ' ' ETO.
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examinations was first introduced by these people ...

(1) Mauryans (2) Chinese

(3) Guptas . (4} Persians

EediEyocse @ 98y oy Joilecd BHED DRl EREREGS ..
(1) sFooe | (2) Pockow .

(3) rowe (4) Sfcids -

A new loom for weaving using water power was introduced by ...
(1) Cart Wright - (2) James Watt
(3) George Stevenson (4) Eilk Witini

5t wirotood’ HAD BamRy ENDGNTE.
(1) =§28 (2) B3 S
(3) =g HASHS @) o6

This is not a discretionary function of Municipal Corporation ....
(1) Registration of Marriages. _

(2) Establishment and maintenance of Child-care centres.

{3) Establishment of Libraries.

(4) Eradication of Epidernics and Contageous diseases.
oalysE 254085 bﬁéméﬁl 25 T8,

(1) 33;:‘3-21‘&: Ea&!@;&g

(2) o dcEns Soimry Nomess, DOSTe

{3)  lemrocile Dome

4] o mw arliey

[30]

www.sakshieducation.com

A




94,

93.

96,

www.sakshieducation.com

Q. Booklet
Code A

These banks serve as a link between R.B.I. and NABARD ...
(1} District Central Co-operative Banks.

(2) State Co-operative Banks. '

(3) Primary Land Development Banks.

{4) State Land Development Banks.

Bxtisg 2RO OG> TERRELs Kogy Seg ¥ SATcke Ao
(1) ﬁq;éo@s BPTS wrotons | |

(2) G‘Qﬁﬁ'ﬂ eReihes

(8)  SHS & Dipd e

(@) T e ePid roes

The time taken by the Earth to cross a distance of one degree interval while
rotating on its axis is .

Foo B oD B3 Moy o w¥ Gf &7do Bureos Bes WiveToo
; (2) 8 minutes.
(3} 5 minutes : {4} 4 minutes

£1) € minutes

Krishna River enters Andhra Pradesh at .......
(1} Basar in Adilabad district.

(2) Sangam in Kurnool district.

(3) Tangadi in Mahabubnagar district.

(4) Vijayawada in Krishna district.

HYI0 woEEBs and vod Eienon.
1 wdewd 2gdt o

(2) o sEmes 208 Bolio

(3). Soirerd wib 2od™ vond

(4) id 2epE®S Ductomrd

[31) ET.O.
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97. A powerful revolt which broke out in Bengal and Bihar from 1830 to 1857

was led by ........
(1) Zamindars (2) Wahabis
(3) Poligars {4) Fairaizes °
8.4, 1830 mod 1857 wum Birtd mwdain Domd oo Pprdve Jn SEHN
Rl et
(1}  edecrt | (2) b
(3) >Bosomdis - (4) Fode

98. This Act provided separate constituencies to muslims,
(1) 1909 Act | (2) 1919 Act
(3} 1935 Act (4) 1942 Act
Saohoel BHY NPT DTN D00 DD 9620 e
(1) 1909 e (2) 1919 Bege
(3) 1935 Sge (4) 1942 See

99. Non-alignment movement got an international status in this meeting.
(1) The first Asian Conference  (2) Belgrade Summit Conference -
{3) Ihakarta Summit Conference (4) Bandung Conference

w8 SPERE GoBOEEH BEPPDS WEFHH casesreers
(1) eshowr oremo Doolit gaodie (2) 2606 miodve
(3) o wardse (4) eroiioch Burdso

~ 100. The price of a product is determined by ...
(1) Consumers and Producers

(2) Decreasge in the Supply

(3) Interaction of Demand and Supply
(4) Inecrease in the Demand

Sagpe $6 agie AL oy aiisied.

(11 BEPKTEe Bici: &gt K.
(2) (BEPe SiGoe S,

() Eunrots Sodaln BEvoDe SoLHT; Wtk
(4)  Asretys BuNtks Hob,

(321
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